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3. A

Consider the following:

1. Carbon monoxide
3.  Ozone

2.Nitrogen oxide
4.Sulphur dioxide

Excess of which of the above in the environment
is/are cause(s) of acid rain ?
(a) 1,2and3

(c) 4only

(b) 2 and 4 only
(d) 1,3and 4

Consider the following:
1. Carbon dioxide.

3. Oxides of Sulphur

Which of the above is/are the emission/emissions
from coal combustion at thermal power plants?

(b) 2 and 3 only
(d) 1,2,and 3

2. Oxides of nitrogen.

(a) 1 only
(c) 1 and 3 only

called

ionosphere facilities radio communication. Why?

layer in the earth’s atmosphere

1. Presence of ozone causes the reflection of radio
waves to earth.

2. Radio waves have a very long wavelength.

Which of the statements given above is/are correct ?

(b) 2only

(d) Neither 1 nor 2

(a) 1only
(c) Both 1 and 2

The jet aircrafts fly very easily and smoothly in the

lower stratosphere. What could be the appropriate

explanation?

1. There are no clouds or water vapour in the lower
stratosphere.

2. There are no wvertical winds in the lower
stratosphere.

Which of the statements given above is/are correct in

this context ?

(b) 2only

(d) Neither 1 nor 2

(a) 1only
(c) Both 1 and 2

Which of the following statements is/are

applicable to Jain doctrine?

1. The surest way of annihilating Karma is to
practice penance.

2. Every object, even the smallest particle has a
soul.

3. Karma is the bane of the soul and must be

ended.

Select the correct answer using the codes given below.

6.

(a) 1 only
(c) 1 and 3 only

(b) 2 and 3 only
(d)1,2and 3

Consider the following statements regarding Bills:

1. A Bill that proposes to give effect to certain
Directive Principles of State Policy.

2. A BIll that attracts the provisions of Article 288.

3. A Bill seeking to operate a provision that
belongs to one of the Concurrent List entries, but

which is however repugnant to any Union law.

How many of the above State Bill will have to be

mandatorily  reserved  for  the  President’s
consideration?

(a) Only one (b) Only Two

(c) All Three (d) None

Consider the following statements

1. CAG can be removed by the President only in
accordance with the procedure mentioned in the
Constitution but this does not mean that the
CAG can be impeached from office in the same
manner as a Judge of the Supreme Court.

2. Some public corporations are audited exclusively
by private professional auditors, and the CAG
may have no involvement at all.

3. The CAG can conduct legal, regulatory and
propriety audit but not performance audit.

4. The Constitution of India has not specified any
criterion for the appointment of CAG.

How many of the above statements are correct in

connection with the office of Comptroller and Auditor
General of India (CAG)?

(a) Only one
(¢) Only three

(b) Only two
(d) All four
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gAdagEEd & fawd oo # o REw wga
e 3R AfdeTar & @y 33 aFa & sHEr
39T FISEFIOT FAT 82 (2011)

1. GAAYHAST & faAger HT & d6a A7 SAT-arsq
&l gl

2. GAAIFHSST & foel $eT & FEARR 9de Agl
glcin|

30 el # IPAB A @ FlA-AURA-A HYA
SHHI/T IUGecl TISEIRIIT g2

(a) hael 1 (b) &ael 2

(c)1 3R 2 g=F (dFar13RTE2
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RYgsl & gey & @ Fyat w AR
e

1. T AOud S Uo7 & oAfa Agees Reurdr
H JHTE TAA HT IEAT HIAT 2

2. vh fadus S Ifeoc 288 & GEUEAT H
HTNT AT B

3. Th A9T® S Uh VH UEYe H ddifeld
FA T AT AT & AT FHAAT FqA wfafedt #
¥ T g, AfeeT St el o i Y & gfdeger
gl

e # ¥ e Uow fA9Ts @ e

regafa & TAaRT 3RfE&aT @ar geme
(a) dhddl Teh (b) &haer ar
(c) T T (d) IS TET

ffafad Fyat W R D

1. CAG &I ysgufa garr dfaurar # 3feaf@a
afshar & 3TER € §CrT ST Fehcl 8, ofehe
o 3T T A & & cAc @ wETdTw
AT & T A Re & I T g
ST F@HhT gl

2. T HESlAh fAaHAl FT @i @AY &9 &
fash IR @ gderdl garr fRar Srer @,
IR cAG FT sEH B sl A& & FEar
gl

3. CAG FTefal, famaes 3R 3Hifey @rlier ax

ol § Afthel Yeiel Sr@TI{eTr Agi|

4. AR & HiaUT H CAG HT fgfed & fow =g

Aecs Afdse adi forar arm &

R & faae vgd Agel@r WeTd (CAG) &

Frfferr & WU # 3wdad # ¥ fFds FuaT @@

7

(a) FadT Th

(c) haer AT

(b) el ar
(d) Telr IR



8.

10.

11.

Consider the following statements

1. The Constitution of India has debarred the
from any
further appointment by the government.

retiring Election Commissioners

2. In ‘Anoop Baranwal Case’ (2023), the Supreme
Court has directed the Government to treat the
Regional Commissioners on par with the

Election Commissioners (other than the Chief

Election Commissioner), as far as removal from

office is concerned.

3. Since its inception, the Election Commission had
functioned as a multi-member body.

4. The power of superintendence, direction and
control of elections to the office of Vice-
President of India is vested in the Election
Commission.

How many of the above statements are correct with
reference to the Election Commission of India?

(a) Only one (b) Only two

(c) Only three (d) All four

Consider the following statements:

1. The poors are entrepreneurial and have innate
desire to come out of poverty

2. Urbanization needs to be encouraged

3. urban India is the real growth centre of Indian
economy

4. Urban poors have been lagging behind rural
poors

How many of the above are the core belief of
National Urban Livelihoods Mission?

(a) Only one (b) Only two

(c) Only three (d) All four

The Kisan Credit Card Yojana seeks to mitigate
financial shortcomings experienced by farmers
during three stages of cropping activity. Point out
which one is not included from the options given
below.

(a) During cultivation
(b) During harvesting
(¢) During maintenance

Which of the following is not an expected impact
of the UDAY Scheme?

(a) Increased capital investment

(¢) Development of renewable energy sector

(d) Awvailability of 24x7 power to all at affordable
price

12.

13.

14.

15.

Consider the following statements:
Statement-I: ~ Every
journalistic ethic.
Statement-II : It aids in the reliable, accurate and
balanced reporting of news by journalists.

journalist  should follow

Which one of the following is correct in respect of the
above statements?

(b) Both Statement-I and Statement-II are correct
and Statement-II is not the correct explanation
for Statement-I

(¢) Statement-I is
incorrect

(d) Statement-I is
correct

correct but Statement-II is

incorrect but Statement-II is

Which strait separates the European and Asian
parts of Turkey

(c) Gibraltar Strait

(b) Dardanelles Strait
(d) Malacca Straits

Consider the following:
1.  Gangetic plain

2. Gujarat

3.  Assam

The shale gas in India has been found to be in
abundance in how many of the above places?

(b) Only two
(d) None

(a) Only one

Consider the following statements:

1. Assam produces about 80% of jute in India.

2. Laterite and gravel soils are suitable for this crop

3. Hot and humid conditions are suitable for
growing jute.

4. Jute is commonly cultivated with wheat in
rotation.

How many of the above statements are correct?

(a) Only one (b) Only two

(c) Only three (d) All four



10.

11.

T syal W AR AT

1. §Rd & Hiaue o daifage fadrae smgawm
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2. ‘3] ST S (2023) H, 3TATH AT o
WHR # e ar & & Sgr 9 ug ¥ gee
1 HEY B, &AT AFABT A AT IIAB
(HET fAdtas 3ged & 3rell@n) & FAW Hiel
S|

3. YA TATYAT & a1 ¥, HaTaeT 3T o e
a‘g—aﬂ‘aﬁmﬂ:mﬁmm%l

4. 9Rd & 3Wrsgdfd & 9g & FaArdr & 3refaor,
Adea IR PEIor f afFa Faaa mer &
fafea gl

AR & fAdtas 3 & et # 39w A @
fohdel YT TEY 87

(a)haeT TH (b) hael ar
(c) shael diteT (d) &8 IR
AT Fya W AR fifgd:

1. TS 3wl g § 3R 39 e & Al
S T AT gToT gl §

2. UEAPIUT I FGTaT oIl BT

3. Y HRA AR Fdcgaedr & adfde
e &g §

4. el S, AT ST @ Ros ® &

39ded # @ foraelr TG Aedr JrShiaer A
& FT AT §?
(a) dhad TH

(c) shaer dieT

(b) Shael ar
(d) g8 IR

e #f3e F18 Ao F1 3687 FEA Aty
& et =it & R frat q@rr Jepera #r S
e wfAwt #f F7 F@T 81 993 F A9 R
T Adedt & ¥ Fia-ar AT ad 2

()@ F ek (b) 1S & SR

(c) T@IWIT & eI (d) AU & ek

fafef@a & ¥ Fia-ar 357 e F71 3@
gHT g &2

(a) goit fvaer & gefer

(b)afRrc T Fgsher farstelr 3mqfet

(c) STdIRToiT FalT &7 &1 A

12,

13.

14.

15.

(d) gl fReEdr qea W 24x7 STl Hr
ELCESn)

feff@d sya W AR fifo:

FYA-| AP TIPR DI GIRIRAT I Afdehdl BT
qTelel AT AT

FYA-Il I§ TFHRI GaNT FARRE &1 [aa@eig,
Té&a 3R dqfod Raiféar & wgraar a2l
39ded HYAT & Hou H FrAfai@d # @ Hla-ar
e 82

(a) FUA-1 AR FUA-Il Qa1 T § IR FUA-I,
FUA-1 HT TEY AT ¢

(b) HUA-I IR FUA-I AT TET & AR FUA-I,
FUA-| HT TE STATEAT =T8T ¢

(c) HUF-I TET § AfheT FUA-Il 37TT §

(d) FUA-I 3T & AfheT HUA-Il T &

T @ SasAEAT gh & AdT sk ofrd
Y FY AT AT &
(a) SRURE FASHEHET
(b) STETST TASHEHET
(c) eTeex STosATHET
(d) FAFHT TASHEHET

@ W AR fic:

1. @0 T Hed 2. ORI

3. 3aA

AR A Ao N 39FT A § e w@E W/
TR A A qG TG 82

(a) FaT Th (b) haeT ar

(c) At (d) IS e

ffafad Fyat W AR oD

1. 3HA HRA FT TR 80% ST T 3G T
gl

2. oize R gy el 39 wEa & fov
S9GFT BN &

3. 9¢ 3 & faw e 3k g oRREfasr
39 gl &

4. SE &1 Yl AR W A F TY AT §
&1 S B

39ged # @ Tl YU T 82

(a) Aol TH (b) FHaol ar

(c) Fael el (d) T IR




16.

17.

18.

19.

Consider the following:

1. To reduce the impact of air pollution and dust

2. To create employment opportunities for local
people

3. To arrest soil erosion at the embankment slopes

4. To promote idea of green deposit

How many of the above are objectives of Green

Highways Policy?

(a) Only one

(b) Only two
(d) All four

Consider the following statements:

1. This encourage cities in close proximity to and
dependent on wetlands to guard wetland in way
which disallow any kind of exploitation of
resources
It was adopted by Ramsar International in 2015

3. This voluntary scheme provides an opportunity
for cities that value their natural or human-made
wetlands to gain international recognition and
positive publicity for their efforts.

How many of the statements given above are correct

regarding Wetland City Accreditation?

(a) Only one. (b) Only two
(c) All three (d) None
G-20 is an inter-governmental forum for

addressing certain global and regional issues.
Which of the following is true regarding its
functionality?

(b) G-20 works mainly for the maintenance of peace
and opposing colonialism and protection of
human rights

(c) It is concerned mainly with formulation of rules
for climate change

(d) It is a group of countries to address and
coordinate issues relating to global economic
policy

A significant geographical aspect of Assam is that
it contains three of the six physiographic divisions
of India. Which of the following is the correct
combination?

(a) Peninsular Plateau, Northern Plains, Indian
Deserts

(b) Northern Plains, Himalayan Mountains, Coastal
Plains

F

(d) Islands, Northern Plains, Himalayan Mountains

20.

21.

22,

Consider the following and choose the right

statements about white gold in India:

1. Geological Survey of India (GSI) originally
mapped and detected presence of white gold
deposits in the Kashmir valley more than two
decades ago.

2. India presently imports most of its lithium
requirement from Bolivia

3. Recently India Signs Agreement for Lithium
Exploration & Mining Project in Australia

How many of the statements given above are correct?

(2) Only one (b) Only two

(c) All three (d) None

In what manner, the President of India can assign
any of the functions of the Union List to a State
Government?

(a) As per discretion of the President
(b) In consultation with the Chief Justice of India

(d) In consultation with State Government and the
Chief Justice of India

The Human Rights Commission of India is a
statutory body for protection of human rights.
Despite the fact, there is a decline in reporting to
the Commission about violation of human rights.
What is the plausible reason for the decline in
reporting?

(a) Lack of awareness about the statutory body

(b) Lack of faith of people in the statutory body

(d) None of the above
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&7
(a)hdel Th
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19.

20.

21.

22.

WA F UF Hgcaqur sinfow wgeq ww T
A AR & oF slafas wmit & ¥ e
A § Fefef@a # & sla-ar ad waee
4
(a) I YR, IT AT, HRAT Iaredr
(b) 3 AT, RATeT 9dd, I Hard

(c) 3TN FT, I UoR, fFATeT add
(d) d, 3 A, RATT gad

fArff@a w fEr A 3k ara & @9
1. ARAT s{d=foer FdeTorT (GSI) & AT & F &
gash ¥ 0% gFy ugd AR Ty A @9d
U & SR & 3ufeafa &1 AmfEer iR gar
ST ATl

2. IRA TdAT  H 9T AT™eRRr
TATRAT STeNTdAT T 3T HT gl
3.8 & H #Ra o secfoar & fofdws
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W fRU 1T wuer # & fFas e &2

(a)Shad T (b) daet &
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aRa F1 wsgufa fFw geR w@g @R & el o
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(a) Irsgafe & faaehear

(b) ¥R & HET ~ArATENeT & WA &

(c) TEfOT TT AR & WHAY A

(d)TeT AR AN ORT & F&I ~Fardher &
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GIERL:]

R F AVAOSR AN ATETOHRE HT G
¥ fov & dufas e 81 5@ T2 & 999g,
AFGIARRT & Jeddd & IR # JAET F R
N A PR am @& &1 RO & fr@e +
WA HRoT F4T {2

(a) duTfaeh AT & SR & JAREHRAT ST FHAT|
(b)denfae ey & A & QAearg $r Far|

(d) 39T 7§ FIS G



23.

24,

25.

26.

Consider the following Ramsar sites

1.  They are important bird & Biodiversity area
2. They are situated in Tamil Nadu

3. They are Ramsar sites

4. They are artificial water reserviour

How many of the above statements are common to
Magadi Kere Conservation Reserve, Longwood Shola
Reserve Forest & Karaivetti Bird Sanctuary?

(a) Only one (b) Only two
(c) Only three (d) All four
Which of the statements given below is/are

correct?
1. GNP is always higher than GDP.

2. If GDP is greater than GNP, then net factor
income earned abroad is negative.

Which of the statements given above is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both I and 2

Consider the following statements:

Statement-I : The development programmes

undertaken in India are oriented towards economic

growth along with social justice.

Statement-II : Indian economy is afflicted with

poverty, unemployment inequalities.

Which one of the following is correct in respect of the

above statements?

(a) Both Statement-I and Statement-II are correct
and Statement-II is the correct explanation for
Statement-I

(b) Both Statement-I and Statement-II are correct
and Statement-II is not the correct explanation
for Statement-I

(c) Statement-I is correct but Statement-II is

incorrect
(d) Statement-I is
correct

incorrect but Statement-II is

With reference to the Bharat Bill Payment System
(BBPS), consider the following statements:

1. Tt is a RBI conceptualized system driven by
National Payments Corporation of India (NPCI).

2. BBPS services are available 24 hours of the day,
all days of the week, throughout the year
excluding public holidays.

Which of the statement(s) given above is/are correct?

(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

27.

28.

29.

30.

Consider the following pairs:

1. SAMBHAV: End-to-end secure mobile
ecosystem aiming to offer secure communication

2. Ugram Indian  advanced autonomous
heavyweight anti-submarine torpedo

3. Project Akashteer: A cutting-edge initiative
designed to automate air defense control and
reporting processes by digitizing them

How many of the above pairs are correctly matched?

(a) Only one pair
(c) All three pairs

(b) Only two pairs
(d) None of the pairs

Consider the following statements:
1. This award is given only to only Indian citizens.

2.  Recommendation for this is given by a
committee headed by Prime Minister of India to
the President.

3. Indira Gandhi was the first woman recipient

How many of the above statements are correct
regarding Bharat Ratna?

(a) Only one
(c) All three

(b) Only two
(d) None

He was a successful and ambitious ruler of the
ninth century belonging to the Gurjara-Pratihara
Dynasty. He successfully conquered areas of
Deccan and Malwa. He conquered areas of
Gujarat and Malwa from the Gujarat-
Rashtrakutas. He launched a campaign towards
Bengal and conquered territories of Gorakhpur
from the Palas of Bengal too.

The above mentioned lines refer to:
(a) Krishna II (b) Mihir Bhoja
(c) Amoghavarsa (d) Dharmapala

Consider the following pairs:

1. Batken Region Kyrgyzstan
2. Matabari Port Myanmar
3. Sittwe Thailand

How many of the above pairs are correctly matched?

(a) Only one
(c) All three

(b) Only two
(d) None
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@ Fyat W AR fie:

FUAA-I HRAT H TaT S T AT FRFHA
3w e & a-ary a@fes = fr 3R
39 ¢

HFUA-Il  HRAT  FIIIEAT  IRME, SIS,
AT & IET B

3REd FUAT & Fou H efaf@d § ¥ wia-ar
e g2

(a)FTA-I IR FUA-Il g1 TG & IR FUA-II
FYUT-| T T AT

(b)FUA-I IR FUF-Il =T T § AR FUA-,
FUA-1 T HET SATEAT 18T gl

(c) FYUT-I TE & AfeheT HU-Il 37T 2

(d) HUT-1 3TT § AfheT FUT-1 TET

ra R sprae gomelt (fdidiew) F west A,
ffef@d sya W R Ao

1. IE AT TSET 3T 91 (TAAE3S)
gl

2. dIITH JaAW FESIHS Peleodl H BISHT
W ay, Ao & @ el # 24 ©E I

39ded HYUAT H F HlT-AIA FE 822
(a) hael 1 (b) 3aeT 2
(c) 1 3R 2 g=r (d) T ar1 3R T8 2

27.

28.

29.

30.

famafaf@a geat w fEr fife:

1. §¥q: US-g-Us TRI&Id HdISel ShITATH I
T QRIET IR YeTel el §

2. 33H: ARA Joold TR gdIde Uelgesl e
TRYEY

3. HioteFe JTehRICR: g 6T f@g=or 3R Raiféar
gfsramsit &I 3foceator FF Faarfed &= &
fore f3sigeT & a5 U ey uger

39gad # @ foae oA | gafed g

(a) hael T JaA (b) shael ar oA

(c) AT FoaT (d) I o goer e

ffafad Fyat W R oD

1. 9§ WEPR had HARA AERAT H € feam
i 8l

2. s for RwiRer siRa & wua &:H &
HEFGTAT dlell Ush WIAfD garr Tsgufd a1 &
STt 81

3. gfexr el 3@ Ul arel ggell Afger A
3T & e U HARA ol & SR A FqeT
&7
(a) hadl THh
(c) ot

(b) FaeT ar
(d) ®Ig =7el

gg At eaedt &1 v wwa HR Agcariad
AWH o1 S IER-9fAER Jer@y & wefta i
30N gFPd AR A F &4 W FhAAgEH
e grca #1138 IERET-USERS A IR
3R AT F a4 W R{ew ged A Sseela S
A I vF FAFAT g HR S F oaret J
MRER F & W ol few grea A

(a) 0T Gfacirr (b) fATRR st
(c) ATy (d) 3aTer
frrfafld Zoal W RER Hfe:

1. Schet &7 forfaTEareT

2. ATAERT §E39Tg AR

3. Raa Uiz
39T A 4 fohas gom @er gafaa &2
(a) Hdel THh (b) hder ar
(c) et (d) IS =Tet
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31.

32.

33.

34.

In the context of Indian economy, consider the
following statements?

1. The Fiscal deficit as percentage of GDP has
steadily increased in the last five years.

2. Gross tax receipt as a percentage of GDP has
steadily increased in the last five years.

Which of the statements given above is/are correct?
(a) 1only (b) 2only

(¢) Both I and2 (d)  Neither I nor 2

Consider the following statements:

1. India has witnessed more than 50 percentage
decline of poverty headcount ration in last fifteen

years.
2. Non-fossil fuel sources account for nearly 60 per
cent of India’s total installed electricity

generation capacity
Which of the statements given above is/are correct?
(2) 1only (b)

(¢) Both1and?2 (d)

2 only
Neither 1 nor 2

In the context of Indian economy, consider the
following statements ?

1. Foreign Direct Investment (FDI) inflow into the
country in the 2014-23 period has tripled.

2. Post-GST period there has been decrease in tax
buoyancy of State revenue compare to 2012-16
period

Which of the statements given above is/are correct?

(a) 1only (b) 2only

(¢) Both I and2 (d)  Neither I nor 2

The  Pradhan Mantri Street  Vendors’
Atmanirbhar Nidhi (PM-SVANidhi) scheme aims
to empower street vendors. Which of the following
statements about the scheme is most accurate?

(a) It provides subsidized raw materials for street
vendors to reduce their operational costs.

(¢) It is a scheme aimed at providing financial
assistance to small and medium-sized enterprises
for modernization and technology upgradation

(d) It provides free licenses and permits for street
vendors to operate legally.

35.

36.

37.

Which of the following statements BEST describes

the target beneficiaries and the scheme’s goals of

PM-JANMAN scheme?

(a) It provides financial aid for higher education to
all students from tribal communities.

(c) It offers reservations in government jobs for all
tribal communities.

(d) It promotes tourism in tribal areas to generate
economic opportunities.

The Government of India launched the PM
Schools for Rising India (PM SHRI) initiative.
Which of the following best describes the
program’s goals?

(a) To provide free and compulsory education to all
children between the ages of 6 and 14.

(c) To set up entirely new schools focused solely on
vocational training and skill development.

(d) To create exclusive residential schools for gifted
and talented students from rural areas.

A flowering plant produces a high energy nectar to
attract bees. When the bees feed on the nectar, bits
of pollen stick to them and are transferred to other
flowers.

Which of the following best defines the ecological
interaction between the flowering plant and the bees?

(a) Commensalism

(b) Predation
(d) Parasitism
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31.

32.

33.

34.

HRAT rdcyaryr & wed # rafaf@a Fuat
w AR

1. §hel W] 3cUG & UlaRid & &7 # ThNg
areT Ao g ast #§ oRrarR ger g

2. Uoe aig avf # ¥he @ 3cuig F gfaerd
& T A Fehel F W A HIAR i g3 2|
R 6T v Fy=t & T i Td a@@r g2

(a) hael 1 (b) FaeT 2
() 1 3 2 @i UEEEEEL )
rfaf@d Fya W IR &

1. 9RT ¥ Ro Ugg vt #F a0 B Fo wE
#F 50 yfdera @ 3% & PAREe @ a1s &

2. ¥Rd & FT TUMAT [SSTel 3cUe a1 &
IR-Gharesm ST Wdal HT ARG 99T 60
gfaerT &l

IR QU T HUAT § ¥ Sl /A TEr 222

(o) T 1 (6) 5 2

(01 3R 2 g=r (daar13iRa2

HRAT rdcyaeyr & wed # rafaf@a Fuat
T AR ¥

1. 2014-23 & Al & ¢ & ycgel fagel fAgwr
(FDI) &7 SdTg il =T 81 91T &

2. GST & oI @l 31af & 2012.16 T 37ATd FHr
ol # T & Tokd f FX IO A Fall 3718
gl

FUX BT 3T wuet & O Fia an/d TEr 2782

(a) hael 1 (b) &ael 2

raad e sEe

guAEAT  9g-Rghar  areAfasik A (dua-
FAfAT) AT FT 36827 TI-RFant 1 wEw
=T Bl A & IR A Aeafaf@a & @ s
T FIT TO TEF &2

(a) T8 T TIHaTHT FI 3T IRATAA dRId HH
Fel & U AfCHST drell Fear ATl Y&l adr
gl

(c) TG UF AT & fordent 3aaed B¢ 3 AvgA
IR & AT F Imyfadiaor ik deifdr
3edde & foIv O dgrdar yere e &

35.

36.

37.

(d)TE T fAshai3il &l HET T @ A HA &
foT #hd g 3R RFAE JeraT R 2l

e & ¥ sl9 W Fya dvasaaqw
Q=T F dftra oAt 3k A F Jat v
W HTST qUIT AT &2

(a) T 3nfeardr FHeTE & wel o I T Ruew
& fav o @gar e & gl

(FF @ Marr wEEt § R W
ApRAT F IRETT YeTd FIaT B

(d)Tg e 3w dar e & fow snfearr
&F # yded & SordT & gl

ARG @R o dew FHew B W $fEan
(froar o) vger g F F=faf@a & & #a @
FAHH F T8N FT TaH HTST JUIT FIAT 82
(a)6 & 14 a§ i 3 & g F=aAl A AqHa 3N
Jifaard e vee S|

(O g @ caarmds GREor 3R Hiere
e W Fiea v Regmea safa Fwer
(d)ImHAOT & & gidsmRIrel 3R wfqsmerey s &
foT faw rardy fagared Jer=r|

TF G Jrer dier AYFEE # ERT w9 &
T 3T9 391 a1 W ITeA FaT & I«
AYAFE @ @it g, a WEr F Fr 398 Ruw
T § 3R 3= gat F wyEaia & 9

ffaf@a & & #i9 g o 9 3R FeEedr
& dro aRkftafas d96 H @8 35 @ ¥

(b) AR
(d) TShfaar
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38. Which of the following is NOT a central tenet of
liberalism?

(a) Individual liberty or freedom is a fundamental
value

(b) Individual freedoms may clash with similar
freedoms of others

(c) To alleviate conflict limitations on freedoms
may justifiably be made

(d) Freedom and equality are irreconcilable

39. Consider the following statements:

1. ‘Sengol’ signifies the transfer of power from
British to Indians.

2. It symbolises the Marathi culture of transfer of
power from one King to other King.

3. Sengol is a powerful symbol of the Chola Kings
authority and their commitment to justice.

How many of the above statements are correct in
respect of ‘Sengol”?

(a) Only one
(c) All three

(b) Only two
(d) None

40. Consider the Following Pairs:

Certification System Issued By

1. AGMARK APEDA

2. FPO mark Ministry of Food
Processing
Industries

3. ECO Mark BIS

How many of the above pairs are correctly matched?

(a) Only one (b) Only two

(c) All three (d) None

41. Scientists have developed a new method to
generate and manipulate attosecond pulses with
unprecedented precision, opening up new frontiers
in attoscience. They propose using these pulses to
create “atto-machines” capable of operating on
ultrafast timescales, potentially leading to
revolutionary technologies.

Which of the following potential applications of atto-
machines is MOST consistent with the capabilities of
attosecond pulses?

(a) Constructing a miniature spacecraft capable of
interstellar travel within a human lifetime.

(b) Developing a real-time imaging system that can
visualize the movement of electrons within
atoms.

(¢c) Building a quantum computer that can solve any
computational problem with infinite speed.

(d) Creating a teleportation device that can instantly
transfer objects between distant locations.

42.

43.

44.

Consider the following statements about Sangam
literature:

1.  The narrative texts are called Melkanakku.
2. The didactic texts are called Kilkanakku.

3. Thirukkural is a major Sangam text.
4

Many Sangam texts were the works of brahmana
scholars.

How many of the above statements are correct?
(b) Only two
(d) All four

(a) Only one
(c) Only three

Match List-I and List-II and select the correct
answer using the code given below:

List-I List-II

1. Yardangs
2. Kettle Hole
3. Escarpment

Faulting

A.

B. Wave erosion
C. Ice Scouring
D

. Wind erosion 4. Stacks
Codes:
A B C D
@ 3 4 1 2
®d 4 3 1 2
) 3 4 2 1
d 4 3 2 1

Scientists have developed a new type of solar cell
utilizing Quantum Dots with tunable bandgaps.
They claim this technology can achieve
unprecedented conversion efficiency under various
sunlight conditions.

1. Quantum Dots emit light at specific frequencies
based on their size and composition.

2. In this solar cell, Quantum Dots act as tiny
antennas, capturing a broader range of sunlight
wavelengths.

3. The tunable bandgaps allow precise control over
the energy levels at which electrons can
jump, maximizing energy conversion.

How many of the above statements are correct
regarding the new Quantum Dot technology?

(a) Only one (b)
(c) All three (d)

Only two

None
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38.

fmfaf@a & & sl serar &1 Fa Ry
T 87

(a) STRIBITT FAAFAT AT FGAF Teh Hifelw H{ed Bl
(b) SATHIIT FIAIAT GHU HT HAWT FIAAA d TH

Tl Bl

(c) TEY # HH A & AT Tadaar W dFw 3T

T § TS ST bl 2

(d) TadTAT 3R FATHAAT IHAT gl

39-

40-

41.

frff@a sy« W R fie:

1. @emer fafeer & HRAAT A AT & gEATAROT &1
ECicad

2. 9§ TH Ul ¥ g@l TS H HAT FEAALT
AVET WEHTA FT ThH ¢

3. e, A T3 & R IR = & ufa
3oeht gfdeeyar &1 T afFaemel gdie gl

39gad A O fohael wYa o Fallelel & Haer A F@E
&2

(a) Fael TH (b) Shael ar

(c) TdYr =T (d)rg TEr

farafaf@a grat «w fEar fifed:

JHATOTA JOTTelr SRY R srar

1. ITATH APEDA

2.FPO HTH A
FHERTOT
3T AT

3. ECO ATH BIS

3Fd # @ fohael goA @d gafad g2
(a) hael TH (b) et ar
(c) A=At (d) IS TR

et o aqd IRYEyAT ¥ WY WRFE Fua
IO FGe IR I A F v a5 f[Afy
REfa @ 5, owd weese & av #F ga w &
q 3T FUAT FT IYANT FF FUS-AAAY T FT
YEATT A § ST HECTPRE TRATHA W FIA FIA
# waw § N wafda & @ wifasry gigfafsat
# 3R & S

wr-AdE @ fAeafaf@a & @ la-ar gafaa
AT TS &UaAl I &TAIIN & AT HH
e gaara &2

(a) ATAT Shaeteldl & MR FR-dRPIT IF A
HeTH Teh oY IHARET AT i faAon|

(b) T aTEdTas THI SATSET Yomell fGwfdd =
St AT & T Solacial 1 afd # S@ ol

42.

43.

44,

() TF wF@icH H¥eX & AT S fedr s
HEGATT FATIT P AT IATd & §ol HT Hebell
gl

(d) Teh TATIERNST 3URUT FAT St §T & TAWAT &
T aEg3 F A TGRS F T ¢

WA AT & TN # a9 w AR
o

1. 3EAACHS I, Aoldhaldd; Hgelld ol

2. 3UCATCHS U, fhoTehelerdy Eald &

3. foRaHte U 9HE@ WA I+Y gl

4. 3 HIH T SEAU Tdeart garm I=d U
ST A ¥ R w0 T

(a) HadT TH (b) Haer ar

(c) daer et (d) T IR

-1 AR g w1 Pae fife sk R Re oo
T FT ITAT FF F@l R gl

Sl Sell
A HAT 1.rSyaT
B. TRIT 3Gl 2. %cel gl
c. fem faddor 3. a1l
D. a1 e 4.F¢h
ag_c_':

A B C D
(a) 3 4 1 2
(b) 4 3 1 2
(c) 3 4 2 1
(d)4 3 2 1

Ffawl A sggew dew dsiv & Wy F@RA
figat &1 39T F&F F AU gER FT WK @A
Rl fFar 81 3a@ g@ar § & I8 dwds
e g & el fr RFufa & nEed s
gaTdT FIRe FX qHT ¢

1. FaieA g 39a PR IR TEAT F HUR |
fafare smgfoat o gerer scAfoia #d £

2. 30 @R Ao &, FaicA &g oI W & w7 A
FE A ¢, S T F TR qer deF fi wh
favqa #@er &1 ST F §

3. 3fefhelel AR AT FoT ERT W Féd faz=Tor
AT Sar ¥ oW W gewela R @
a8 F1 FIROT FRAFHAA & ST B

s FaieA fog deAfTf & doy # swded 7 @
fohdel U TET 82
(a) T TH

(c) Gt AT

(b) el ar
(d) 1S TR
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45. Which of the following is/are the effect of the 49. With reference to the TReDS, consider the

depreciation of the rupee? following statements:

1. Import of goods and services becomes cheaper. 1. It is an electronic platform for facilitating the

financing/discounting of trade receivables of
Micro, Small and Medium Enterprises (MSMEjs)
through multiple financiers.

2. Export of goods and services becomes
competitive.

Select the correct answer using the codes given

below: . .
2. Only MSMEs can participate as sellers in
TReDS.
(a) 1only (b) 2 only 3. Onlv Non-Banking Fi il C .
(¢) Both 1and2 (d) Neither 1 nor 2 . nly Non-Banking Financial Corporations are

permitted by the Reserve Bank of India (RBI) to

participate as financiers in TReDS.
46. Consider the following statements: . .
) ) o ) .. How many of the statements given above is/are
1. Standing Deposit Facility is an additional tool

o X correct?
for absorbing liquidity without any collateral.
2. Under the SDF, the eligible entities can place (a) Only one (b) Only two
deposits with the RBI on an overnight basis (c) All three (d) None
3. Deposits under the SDF shall not be reckoned as
balances eligible for the maintenance of the cash 50. Which of the following best defines liquidity?
reserve ratio
How many of the above are correct With reference to (a) The ability to convert a store of value to cash

the Standing D it Facility (SDF)?
¢ Standing Deposit Facility ( ) (b) Uncertainty about the value of an asset

(c) The expenses of negotiating and executing an

(a) Only one (b) Only two exchange
o) dliies (d) None (d) The amount that will be repaid at the end of a
bond’s term
47. Consider the following statements:
1. Ttis launched by a group of developed countries. 51. Consider the following statements:
2. The initiative covers market access, investment Statement-I: Cold water extinguishes fire more
protection and investor-state dispute settlement. quickly than hot water.
3. India is part of this process and actively support Statement-II: Hot water being at higher temperature is

the initiative converted to steam in lesser time which by stopping
4. It is a non-mandated, non-multilateral issue

combustion extinguishes the fire.
under framework of WTO

Which one of the following is correct in respect of the

. above statements?
How many of the above are correct With reference to

the Tnvestment facilitation for development? (a) Both Statement-I and Statement-II are correct and

Statement-1I is the correct explanation for
(a) Only one (b)  Only two Statement-I
(c) Only three (d)  All four (b) Both Statement-I and Statement-II are correct
and Statement-II is not the correct explanation

for Statement-I

48. Consider the following: (c) Statement-I is correct but Statement-II is
1. Land 2. Money incorrect

3.  Labour 4 Capital (d) Statement-I is incorrect but Statement-II is
correct

How many of the above are scarce economic resource?
(a) Only one (b) Only two
(c) Only three (d) All four
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45.

46-

47-

48.

fmfaf@a & @ Fla-w@d 39 F qegew F7
gaTT 218?

1. &3 ud Qai3i & AT T g S gl

2. aEg3t R at @& ot gfaeddt g S
gl

Ay feU AT FHe @ ITFNT Hh e IR i

(a) Faa 1 (b) Faa 2

(c) 1 3R 2 gmr (daar13ikad2

frff@a sy« W R fie:

1. Turl S ghawr fSar fhdr gariRdes & aRerdr
Hr ad W & fov v AfaRaw 3usor
gl

2. SDF & dgd, 9T &TUT Id X & IR W
RIS & I1H FTHAT HX Tohell &

3. SDF & dgd SHT &I siehe IRIET 3drd &
TEREE & o a7 Qv Ufr & §F A 3 AT
ST

TRt S gfawr (SDF) & @est & 3udFa # @
fohder @Er 87

(a) ddl ThH

(c) @i et

(b) Faer ar
(d) 1S e

frfaf@a syat w AR fic:

1. 39 Refd dof & e @Hg cann dlea famar
T gl

2. 3@ Ugd H R 9gd, fadwr @ewr 3R
fAdes-sa fdarg e anfae g

3. 9Rd 39 gfhar & ffear § 3R ey s &
9 Ugd BT HIA FT gl

4. WTO @@ & ded IF U& IR-3fcRa, ik-
sguel™ #ear B

o & for fder ghawr & deet 7 sdaa # @
fraer @t €7

(a) haoT TH (b) aer &
(c) haer et (d) Tshr =
AT W far fic:

1. & 2. o

3. %7 4 gt

39ded # @ fohael golsr e dare g7
(a) sad TH (b) Shaer ar
(c) hae (d) gefr I”

49-

TReDS & Wl &, Afdf@ad Fya W AR
Fford:

1. IE &3 faqdivel & @egw @ ggA, g AR
ALTA 3¢TAT (MSME) & SNR Wieddi &
faadivor/ge i ghawr & v & seecl@s
T g

2. %ad MSME & TReDS & fashdl & & # #HTT
o T g

3. haa R-IFT i @emet & s Red
d& (RBI) g@rT TReDS # faadiwsi & &7 &
T oot T 3TATT B

IR U 9T Hy=r # ¥ gy gar £/8?

(a) HadT Teh (b) shaar ar

(c) =t (d) IS 7T

fef@a & & Fl9 caar ) gaiddaw & F
aftenRa &ar 2

(a) FeT & HSN I FThal H celel I &THATI

(b) Ty Fufa & Ao & IR # yffRadan

() B R W aadad &==a ik 33
fhaTfead et &1 @)

(d) @& TR S &5 Hr Efr & g d gwrd
STaay|

51.FR@T syt W AR A

HYA-1: I UG AT JoloAT H ST G 3T HY
3t Ao @ g B

FUA-I: IH el HF dOAT W g h
FRUT HA AT H 0T # gRafdd g Jrar
€ S egel Ashend 37T T TSI el &

39dFd HUAT & "oy # fArafaf@a & 4 i
|1 HEr e

(a) FUA-I 3R FUA-I gt T&F & 3R FUA-1I
HYUT-1 hT T ITEAT §

@) FUA-1 3R FUA-11 AT TE & AR FUA-I,
HYU-1 hT T AT el §

(@) FUA-1 FEY § Afehed HYA-1 FTT §

@) FUS-1 3 ET & Afped FUT-11 TE &
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52.Consider the following statements regarding the Big
Bang Theory:

1. The Big Bang Theory proposes that the universe
originated from a highly compressed and hot state,
expanding rapidly from a singularity.

2. The concept of the Big Bang Theory was first introduced
by Edwin Hubble in the early 20th century.

3. According to the Big Bang Theory, the expansion of the
universe is ongoing, and galaxies are moving away
from each other.

Which of the statements given above is/are correct?

(b) 1 and 2 only

(d) All of the above

(a) 1 only
(c) 1 and 3 only

53. Consider the following pairs

Island Country
1. Socotra Island Somalia
2. Sulawesi Island Indonesia
3. Falkland Island Australia

Which of the above Island and Administrative
Country is correctly matched?

(a) 2 and 3 only (b) 2 only

(c)1,2and 3 (d) 1 and 3 only

54. Consider the following

1. Boiling water

2. Land and sea breeze

3. Circulation of air around blast furnace

4. Heating of glass surface of a bulb due to current in
filament

In how many of the above heat loss is primarily due to
convection?

(b) Only two
(d) All four

(a) Only one
(c)Only three

55. Consider the following statements regarding

star formation:

1. Stars form from the gravitational collapse of large
clouds of gas and dust in interstellar space.

2. The process of nuclear fusion, where hydrogen
atoms combine to form helium, is the primary
energy source that powers a star.

3. Protostars are intermediate stages in star formation,

where a collapsing cloud has not yet initiated nuclear

fusion in its core.

Which of the statements given above is/are correct?

(a) 1only

(b) 2only

(¢) 1and3 only
(d) All of the above

56. Consider the following statements regarding
tropical anticyclones:

1. They are characterized by low atmospheric
pressure at their centers.

2. They are commonly associated with calm and
clear weather conditions.

3. The Coriolis effect plays a significant role in
the formation and maintenance of tropical
anticyclones.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

57. Which of the following statements concerning
temperature is/are correct?
1. In winter season isotherms in Northern
Hemisphere are more or less circular on
continents.
2. Isotherms in the southern hemisphere are fairly
parallel to the latitudinal lines..
3. Continents are hotter in the summer and colder
in the winter than the oceans.

How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c)All three

58. First U.S. mission to collect a sample from an
asteroid. It returned to Earth on September 24,
2023 after collecting samples from an asteroid.
The spacecraft didn't land, but continued on to a
new mission. Meanwhile, scientists hope the
Asteroid sample which this spacecraft dropped
into the Utah desert will offer clues to whether
asteroids colliding with Earth billions of years
ago brought water and other key ingredients for
life here.

The mission in the paragraph refers to:
(a) DART (b) Psyche
(c) OSIRIS-Rex (d) Europa Clipper

59. Consider the following winds: ?
1.Sirocco 2. Mistral
3. Khamsin 4. Chinook
How many of the above local winds are

characteristically hot and dry?
(b) Only two
(d) All four

(a) Only one
(c) Only three
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52.f31 &1 Rguia & F9y # Arfaf@a sy« W AR
Hifor:

1. f9er o1 fAquia &1 yeaa § & seAs & 3l
A FNf3d 3R 3 e F g8 & S o
faeraToTar & it & TR 8T w8l

2. faar do1 Rigid A 3raurRom gge IR 204t T H
QB3TTel A USTAeT gl SaRT 92T & 975 T|

3. farer dor figid & 3raR, FeAts & fawar o ¢ 3R

TR T GEN § I 11 LT &
YL HYUAT H A HieT T/ HL 8787
(a) had 1 (b) Fhaer 1 32
(c) Faa 1 3R 3 (d) 3uercT |afr
53. farafaf@a oAt w R Ao
CCIR) &ar
1. AT g grATerT
2. gerradr gd EECIRCI
3. BicholS gard Jreeforar

3G A A et AT edT 3R TmafAeh ST TE AT 82

(a) Shaer2 33 (b) Fae2

(c) 1,231R3 (d) Faer 133
54.faF X A e

1. 3eIdT 9TeiT

2. off# IR | gar

3. 9Td Hgl o TR 3] gaT T el
4. reHT A T & HRUT Sod HI ST FHI Tdg BT I gl
U A 4 fohctel & AT gt HEAT: Hagl o HROT gleil
&
(a) hdol T
(c) hael dieT

(b) acTar
(d) T IR

55. ART AT & Fey A ArAfaf@a Fy« ) R

A

3. AR HA-dRHRT HaRer 7 3 3R g & a8 dIgall &
TEcaTehYUT Tclel § TeTcl § |

4. AT Helgel Y GishaT, STeT §Tggtotel AT Aol
o sa1a €, TrafAe Fair A § S o ar &t
NIECRECETCIN]

3. YIEReR aR & fA#Tor F Aegad! @vor §, STet v egd

STeet o 378 ek 3791 FeT H UAT] Toldel Y& T fohaT &1

3G YAl H A FioT AA TET 8187
(a) hael 1 (b) adr 1 32
(c) Facr 1 3R 3 (d) 3uerd |ef

56. SUTR et yfaasraral & daer # Arafaf@d sy«it
R AR fifa:
4. BT hal O o=t argHse gard Y faeIvar gl 1
5. 3MAAR IR e 3R A At A Fafa @ g e
gl
6. PINSHITT Forra ISuTh el ga=rshardr & fasior
3R TERETE # AgeavT A AT
39 & § fohelel YT Tgr &2
(a) HdT TH (b)ydaer ar
(o)Tsh et (d)TS =T8T

57.d19ATST & W # ArAfaf@d & & Sl a/a s
e o782

1. 2T ] A 3a e 7 FgTeddl I FHAATT 1@TT
ATHIT eI giely & |

2. EfEYofY aeeY 7 FHATT Y@ 3reTri 3@msit o srhr
HATATR BT 8 |

3. HETEWERT T Jolell H Hgledd At 7 3ifereh e
AR eI F BT €l

3uded 7 & frae Fue a8y 2
(a) Shdel Teh (b) FIeTar
(c) @ et (d) 1S TET

58.fFH &Igae ¥ AHAT THA FIA AT GgT FARAT
AT | IF T 41TE F AHA THRHT A F 916 24
fda, 2023 #r gedt w3 dter) safer I 3aw A,
AT T AT YA W TAar W1l 57 i, st
#1371 ¢ o afgere 1 oo, O sw siaRer g &
Fer Yfearer 3 PR o, 5@ o &1 T &an f
31Tal /T TEe gt § TF AT 415AE T8 Tt i
Sttaet & T 37 997@ dea aw g

g & A @ acad &
(a) SI€ (b) HTSHT
(c) ERT-IFH (d) FUUT fFerr

59. rafaf@a gant | AR fEd:

1. =T 2. fAega
3. AR 4. R
39ded # § fohcell TNy gard fafise &9 & I
3R s B2
(a) T TH (b) Haer ar
OEEEEIGH (d) g IR
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60. Consider the following statements about
genome sequencing:

1. Whole-genome sequencing involves determining
the complete DNA sequence of an organism's
genome.

2. The Human Genome Project (HGP) was an
international scientific research project that aimed to
sequence and map all the genes of the human species.
3. Next-generation sequencing (NGS) techniques

allow for the simultaneous sequencing of multiple

DNA fragments.

How many of the statements given above are correct?
(a) Only one (b) Only two
(c) All three (d) None

61. In a certain year, how many days are there
in the month of February?

Statement-1: In the 3 years preceding that year,
there is no leap years.

Statement-2: In the 3 years after that year, there
is no leap years.

Chose the correct one of the following

Choose 1 If the question can be answered by
using statement [ alone but not by using statement
IT alone.

Choose 2 If the question can be answered by using
statement II alone but not by using statement I
alone.

Choose 3 If the question can be answered by using
either of the statements I or II alone.

Choose 4 If the question can be answered by using
both the statements together but not by either of the
statement.

(a) 1 (b) 2

(c)3 (d) 4

62. 6 kg of Rs 8/kg wheat is mixed with 3 kg of
another type of wheat to get a mixture costing Rs.
10/kg. Find the price of the costlier wheat.

(a) Rs 12/kg (b) Rs 14/kg
(c) Rs 16/kg (d) Rs 6/kg

63. A3T, D7R, G16P, J35N, M74L,?

(a) N102L
(c) P153]

(b) R126P
(d) Q163R

64. Fresh fruit contains 60% water and dry fruit
contains 20% water. How much dry fruit can be
obtained from 50 Kg of fresh fruits?

(a) 22 Kg
(c) 28 kg

(b) 25 Kg
(d) 30 kg

65. Each of the following question is based on given
letter series:

ABCDEFGHIJKLMNOPQRSTUVWXYZ
Which letter is seventh to the right of the thirteenth
letter from the left end?

(a) S
(c)u

(b)T
(dVv

66.Which letter will be sixth to the left of the
nineteenth letter from the right end of the English
alphabet series?

(a)M
(¢) X

(b) N
(d) None of these

67.In the English alphabet, which letter will be
15th from right?

(2) O
() K

(b)L
(dQ

68. If in a certain code, LUTE is written as
MUTE and FATE is written as GATE, then how
will BLUE be written in that code?

(a) CLUE (b) GLUE
(¢) FLUE (d) SLUE

69. If in a certain language, MADRAS is coded as

NBESBT, how is BOMBAY coded in that
language?
(a) CPNCBX (b) CPNCBZ
(c) CPOCBZ (d) CQOCBZ
70.24: 60: 120 : ?
(a) 160 (b) 220
(c) 300 (d) 108
71.123: 36:221?
(a) 69 (b) 89
(c) 72 (d) 25
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60.51911 SIp AT & IR | Fafafea oyl w® faar
Bifor:

1. qul-SH S H fadt Sitg o ST &1 Tquf Sy
3r3epH feiia &= e B

2. IHa S oA (TEeidh) T SRR afAe
Sy uRaieHT ot ST I5=a A4 yafaal & wft
ST Y ST SR AT ST ol

3. 3FTcH Ui B SIHHU (TSIY) ddh-ild Hg SIT-Y
THS! B Ub 1Y ATHHU DT AT el B

Sued B A A fbem 9t &
(a) HIA TH
(c) <At

(b) Had &I
(d) IS 78T

61. it aef weadt wre & fpaq feA gl &2

BYA-1: 39 Y A U & i auT H BIS e TET R
BY-2: 3T Y P a1€ & o a8 F B s TET 1
frafiad & 3 e ue &1 9 3

1 g, Al UY b1 ITR had HU I BT IUART HRab &1 S
mgﬁméﬁaﬁwnmwmqﬁ%mw
THAT g |

2 g, Ul U BT IR HId HY 11 DT ITART B T Sl
W%%éwaﬂaaﬁmlmwmﬁﬁmw
THAT g

3 g, af¢ UY BT IR bad HYF 1711 H I fovdl Th B
SUIRT Fxb f&aT S whal 5 |

4 g, IS UY BT IR GIH DU BT Th Y SUIANT PR
fear o1 wpar & Afe fpelt ot o @ T2 feam S gapan
gl

() 1 (b) 2
(c) 3 (d) 4

62. 8 ¥Ud U frama arat ¢ fanmy g & 3 feaumm
TR PR & g & A1y e fygor dar faan s
2 forast Fiua 10 30 ufa fBatma 81 w8 g #t
P JId DI

(a) 12 3ud/fHa
(c) 16 3ud/fHm

(b) 14 39/fBwT
(d) 63ug/fa

63. A3T, DTR, G16P, J35N, M74L,?
(a) N102L (b) R126P

(c) P153] (d) QI63R

64. TS B | 60% UHT BT 8 3R G& B | 20%
Ul BT 81 50 TP O wal @ feaar @ v
e foaT ot Hehdn 82

(@ 22fHum
(c) 28 T

(b) 25 faam
(d) 30T

6séﬁuﬁr@aﬁﬁuﬁ$uﬂaﬁn€aﬁmﬂwnmﬁa

ABCDEFGHIJKLMNOPQRSTU VWXYZ

I BR ¥ aRed quf & < § radt auf 19 182
(@ S (b)T
(© U d Vv

66. VT FUiHTAT YT F IT¢ BR A IAA quf & ardt
3R BT qul B AT FRM?

(a) M
(c) X

(b)N
(d) TIPS T8I
67. 3h quiATar A < & 1591 quf S I1 82

(b)L
d Q

(a) O
(c) K

68. afe ts fAfdd @e &, LUTE ® MUTE & U ¥ forar
WTaT 8 3R FATE &1 GATE & ¥U ¥ forar &irarn 8, ot

3 % ¥ BLUE &1 &4 forat g
(a) CLUE (b) GLUE
(¢) FLUE (d) SLUE

69. Tfe A A3 yraT § MADRAS &1 NBESBT &
w9 # e fHar omar €, 9 39 T § BOMBAY &1 &3

Fe fPaTTasare?
(a) CPNCBX (B) CPNCBZ

(c) CPOCBZ (d) CQOCBZ

70. 24: 60: 120 : ?

(a) 160 (b) 220

(c) 300 (d) 108
71. 123:36:221?

(a) 69 (b) 89

(c) 72 @) 25
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72. Find the number of zeroes at the end of the

product 500!
(a) 100 (b) 124
(c) 120 (d) 125

73. The digit in the unit's place of the product
(2464)1793 x (615)317 % (131)491 is
(@ 5 (b)0
(c) 3 (d)2

74. How many pairs of X and Y are possible in the
number 763X4Y2, if the number is divisible by 9?

(a) 8 (b 9

() 10 @) 11

75. Which of the following numbers will always
divide a six-digit number of the form xyxyxy?

(a) 1010 (b) 10101
(c) 11011 (d) 11010

76. What is the LCM of 1.08, 0.36 and 0.9
(a) 1.08 (b) 0.9

(c) 10.8 (d)5.4

77. In how many arrangement of the word
TEMPLE will the vowels never occur together?

(a) 120 (b) 240
(c) 480 (d) None of these

78. A's and B's age are in the ratio of 4:5. In four
years, the ratio of their ages will become 5:6.
What is B's present age?

(b) 20 years

(d) 40 years

(a) 25 years
(c) 30 years

79. A bag contains Rs. 50, Rs.20 and Rs. 10 notes in
the ratio of 3 : 5 : 8. The total value of all the
types of notes is Rs. 1650 find the number of
Rs.20 notes?

(a) 20
(c) 25

(b) 23
(d) 30

80.The ratio of monthly income of A and B is 5: 4.
If A spends Rs. 2000 and B spends Rs. 600 then
the ratio of their savings is 10 :9. Find the
monthly income of each person:

(a) Rs. 12000, Rs. 9600
(b) Rs. 12500, Rs. 9100
() Rs. 12500, Rs. 9600
(d) Rs. 12000, Rs. 9100

81. A can do a piece of work in 12 days and B can do
it in 18 days. They work together for 2 days and
then A leaves. How long will B take to finish the
remaining work?
(a) 6 days
(c) 10 days

(b) 8 days
(d) 13 days

82. The distance between two stations A and B is
800 km. A train X starts from A and moves
towards B at 40 km/h and another train Y starts
from B and moves towards A at 60km/h. How far
from A will they cross each other?

(a) 3800km (b) 320km

(¢) 300 km (d) 360 km

83. The average of 15 numbers is 20 and the average of
first five numbers is 18. What is the average of the
remaining numbers?
(@ 21
(c) 28

(b) 25
(d) 30

84. Saturday was a holiday for Republic Day. 14™ of the
next month is again a holiday for Maha Shivratri.
What day was it on the 14th?

(a) Monday (b) Tuesday
(c) Thursday (d) None of these

85. Starting from the point X, Jayant walked 15 m
towards west. He turned left and walked 20 m.
He then turned left and walked 15 m. After this
he turned to his right and walked 12 m. How far
and in which directions is now Jayant from X?

(a) 32 m, South (b)47 m, East
(c)42 m, North (d)27 m, South
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72. qOTAGS 500! F I H Al A wEAr A Hfaw:
(a) 100 (b)124
(0120 (d)125

73. TOTABA (2464)1793 x (615)317 x (131)491 H¥ 1§ &
AT T IHF 8
@ 5 (b) 0
(©) 3 (d)2

74. WEAT 763X4Y2 H X 3R Y F Frast gow wea €
Ife gEar 9 § s @2

(a) 8
(c) 10

(0)9
(d) 11
75. farafaf@a & & Fia @ TE&GT AT xyxyxy T H;Y

S: A Y F=IT F [{anfoa #E?
(a) 1010 (b)10101

(c) 11011 (d)11010

76. 1.08,0.36 3 0.9 FT TGAHA FHMGAF FAT 82

(a) 1.08 (b) 0.9

(c) 10.8

77. TEMPLE e ¥ fhaat pswal # & ol o oo

TE T
(a) 120
() 480

(b) 240

(d) 3597 ¥ FIg e

78. A 3R B & I F IqAT 4:5 T AR A TG
3! A HT AU 5:6 81 AT B AT TAAT HG
T B2

(a) 25 a¥
()30 "rel

(b) 20 &TeT
(d) 40 @Ter

79.7% 4 # 3:5:8 & AHeqUd A 50 F9, 20 F9F 3R
10 39F & e § @ 9FR F Al 71 Fa qoT
1650 F9X 1 20 9N & A A FE&AT AT AT

(a) 20
(c) 25

(b) 23
(d) 30

80. A 3R B & AT 3T &7 IquT 5:4 T I A,
2000 T9¥ 3R B, 600 T9X T FIaT ¢ A 3T TS
FT I 10 : 9 §1 TAF Afda i TRyF 307 719
ffaw:

(2) %. 12000, F. 9600
(c) . 12500 &. 9600

(b)F. 12500 . 9100
(d)F. 12000, %. 9100

81.ATH A H 12 el & &7 ghar & 3R BsA 18
At & F gwar ¥ 2 REA 9% vH WY FH FQ
§ 3 BT A 9ar Jrar ¥ AY FE A @@ FE A B
F fFaer gag F@em?
(a) 6 &t
(¢) 10 et

(b) 8 =t
(d) 13 &=

82. Y Rl AR BF fiw fr gt 800 Bl Bl vw
ST X, A¥ UF §F B A 3R 40 Frefiveer & afy @
Tac § 3 qEH T V, B YE dF AR AT 60
frafireer # 71fy & gach 71 AR e g W A v

T AR FEA?
(a) 3800 ThaY -
(c) 300 fraY (d) 360 fRel

83. 15 W&ATHT &1 3taa 20 § 3R g iw wEATHT F
staa 18 &1 AW Tt # dtwa F=T 2

(a) 21 (b) 25
(c) 28 (d) 30

84. afaaR A roreT Raw A gedt o€ v 7S Ay
14 I # BT FerfAawty fir g ¥ 14 ad@ R}
FiT @1 B ar
(a) WHAR
(¢) TeIR

(b) FITAR

(d) 371 & @5 T

85.g X & q& F&, FAd 15 e qRRwsw i 3R =@
ag arft 3T 7q3T 3R 20 FAex Tam BT Tw i IR
731 AR 15 A TaT FHF qE I§ AT aq$ I
73T AR 12 AT Tam I FEed X @ fraet @ sk
e Rar # ¥

(a) 32 Hrex, gfgyor
(c) 42 #HIeY, 3

(b) 47 #Hrey, qd
(d) 27 #ex, fayor
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86. Consider the following sequence that follows

some arrangement:

c_accaa_aa bc b

The letters that appear in the gaps are:
(a) abba (b) cbbb

(c) bbbb (d) ccee

87. Choose the word which is least like the other

words in the group.
(b) Tangent
(d) Radius

(a) Diagonal
(c) Diameter

88. Four children are sitting in a row. A is occupying

the seat next to B but not next to C. If C is not
sitting next to D, who is/are occupying seat/seats
adjacent to D?

(@B (b) A
(c)Band A (d) Impossible to tell

Direction:

In each of the questions below is given a
statement followed by two assumptions I and II.
Consider the assumptions and decide which of
them is/are strong in given statement. Choose the
correct answer from the given alternatives.

89.Statement: Many services related on government

are now brought under the Right to Information
(RTI) Act.

Assumptions:

I. It will bring in more transparency.
II. It will bring in more accountability.
(a) Assumption I is strong

(b) Assumption Il is strong

(c) Assumptions I and II are strong

(d) Neither assumption I nor II is strong

90.Statement: Conservation of rivers is very

important today.
Assumptions:
I. It will reduce water scarcity.
II. It protects our ecosystem.
(a) Assumption I is strong
(b) Assumption II is strong
(c) Assumptions I and II are strong

(d) Neither assumption I nor II is strong

91.Statement: All citizens have the right to challenge

a lower court verdict in high courts.
Assumptions:

I. Lower courts are not efficient, while the higher
ones are better.

II. The possibility of error in the judgement may
exist.

(a) Assumption I is strong

(b) Assumption II is strong

(c) Assumptions I and II are strong

(d) Neither assumption I nor II is strong

92. Statements: Some mangoes are yellow.

Some Apples are mangoes.
Conclusions:
1. Some mangoes are green.
2. Apple is yellow.
(a) Only (1) conclusion follows
(b) Only (2) conclusion follows
(c) Neither (1) nor (2) follows
(d)Both (1) and (2) follow

93.Statements: Some ants are parrots.

All the parrots are apples.
Conclusions:
1. All the apples are parrots.
2. Some ants are apples.
(a) Only (1) conclusion follows
(b) Only (2) conclusion follows
(c) Either (1) or (2) follows
(d)Neither (1) nor (2) follows

94.Statements: Some papers are pens.

All the pencils are pens.
Conclusions:
1. Some pens are pencils.
2. Some pens are papers.
(a) Only (1) conclusion follows
(b) Only (2) conclusion follows
(c) Neither (1) nor (2) follows
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s6.AFafaf@a IgFe W AR # S o sgaewr #71
3TEOT FICT §:

c_accaa_aa bc b

e # S 9o Rwrg g € 9 &

(a) abba (b) cbbb

(c) bbbb (d) ccee

87.9% UG I SN WAF & e YT W FA ¥ FA

gﬁﬁa &
(a) Taepol (b) TIRE@T
(c) cara (d) B==r

88.9R T=x U& fad & 83 &1 A, B&F T9re ared TUA
o do1 &, AP CF 9 I T W A IR C,
D & I qTel FAA W AGT A7 §, @ D & «qarer arer
TUE W FiT do1 82

(@ B (b) A
(c) B3R A (d) ST 3EHT §

e

A Re 10 4 AF 9o F v YA F 91 A
grRome 131 1& a1 & arRomat W fEr #¥ 3k
T w397 @ Il A Fya & gead ) R
T Rwedt & ¥ @ I T

89. FYT: TEHR & JA F§ Ja1At F 39 FaAT H1
HAFR (IRAINS) FHT F dga o141 4T ¢

YR

I 389 3R 31f0% gReREar 3wl

1. 98 318 3ImeiRca areem|

(a) UROT 18AFT gl

(b) &ROT 11 T &

(c) RO 131 1@ gl

(d) o d 9RO 13K o & 18T gl

90. FyeT: AfETT HT AIGTOT 1ol qgd T B
RO

. 389 9T & S gl

1. I gAR aRfEufashr aF &r 8T i gl

(a) UROT 1 TAFT &

(b) &IROT 11 {9 &

(c) RO 13 11T 1

(d) o @ gRom 13X o & 19AFT gl

91. FYeT: T ARSI F relaTey =T F Aok

1 3eT ATl # Al & F1 F0FER B
YTROTIY:
L Y ~ITeld $U el 8, Sieieh
ST 9gR &1

I Aot & i & GaeT aelr @ Tehell gl
(a) SIROT [TAFT ¢
(b) €IROT 11 T §
(c) gROMT 1 3R 11 §eeFd gl
(d) o dr grom 13K 7 & 1T gl

92. FUT: FT& A At
6 AT AA B
fAshy: 1. 3o 31 & &
2. Q9 Qe &
(a) Sael sy (1) 3TEOT T B
(b) Fael fTSEY (2) 3TEROT FIAT B
(c) & ar sy (1) 3 & & (2) 3TEIOT T B
(d) forsy (1) 3R (2) Sl HTEROT A §

93. Fy: Fo difear arr g
woft & ¥

sy 1. g9l a9 aid g1
2. %o difear a9 g
(a) Faa fAFT (1) IFTEOT FT E
(b) Faer foIsay (2) 3FTEROT FT §
(c) AT & fo¥say (1) AT (2) HTEROT AT
@ o & frsas (1) 3R 7 & (2) IHTERT AT

94. FUT: TS FIIA FoAA 8
st 9 Faa &

fAshy: 1. $o Ford 48 §
2. % HelH HE ¢
(a) dael fAsHy (1) ITEI0T HT B
(b) Fael fTSEHY (2) 3TEOT FAT &
(c) o ar faseny (1) 3R & & (2) HTEOT LT &
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95.Let A3BC and DE2F be four-digit numbers
where each letter represents a different digit
greater than 3. If the sum of the numbers is
15902, then what is the difference between the
values of A and D? (2020)

(a) 1 (b)2
(©3 (d)4

96. A digit n > 3 is divisible by 3 but not divisible by
6. Which one of the following is divisible by 4?
(2020)

(a) 2n
(c)2n+4

(b) 3n
(d)3n+1

97. If ABC and DEF are both 3-digit numbers such
that A, B, C, D, E and F are distinct non-zero
digits such that ABC+DEF = 1111, then what is
the value of A+B+C+D+E+F? (2023)

(a) 28 (b) 29
(c) 30 (d) 31

98. How many 3-digit natural numbers (without
repetition of digits) are there such that each digit
is odd and the number is divisible by 5? (2022)

(a) 8 (b) 12
() 16 (d) 24

99. Each question given below has a problem and
two statements numbered I and II giving certain
information. You have to decide if the
information given in the statements is sufficient
for answering the problem. Indicate your answer
as:

It is 8.00 p.m., when can Hemant get next bus for
Ramnagar from Dhampur?

Statement 1. Buses for Ramnagar leave after every 30
minutes, till 10 p.m.

Statement 2. Fifteen minutes ago, one bus has left for
Ramnagar.

(1): If only one of the statements can be used to answer
the question not the other one.

(2): If either of the statement is sufficient to answer the
question.

(3): If both the statement have to be used.

(4): If the question cannot be answered using both the
statements.

()1 (b)2
(©)3 (d) 4

100. Each question given below has a problem and
two statements numbered I and II giving certain
information. You have to decide if the
information given in the statements is sufficient
for answering the problem. Indicate your answer
as:

What is the birthdate of Sonali’s mother?

Statement 1. Sonali’s father remembers that his wife’s
birthday is after 20th and before 23rd February.

Statement 2. Sonali’s brother remembers that their
mother’s birthday was after 21st but before 25th
February.

(1): If only one of the statements can be used to answer
the question not the other one.

(2): If either of the statement is sufficient to answer the
question.

(3): If both the statement have to be used.

(4): If the question cannot be answered using both the
statements.

(a) 1 (b)2
(©3 (d)4
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95. AT AT A3BC 3R DE2F AR 3l Y T&aT §
STEl 9 AF qot 3 @ 92 UF He T HF Y AT P
iy wEgmsit &1 AT 15902 A AIR DF FET F
T FA1 3G 82 (2020)

(@ 1 (b) 2

(©) 3 (d 4

96.T& 3+ n>3,3 ¥ QAT § AafFT 6 ¥ Rasw
7 ¢ Pefaf@d & ¥ Fla-ar 4 F a2 (2020)
(a)2n (b) 3n

(c)2n+4 (d)3n+1

97. I ABC 3R DEFEY 3-37FT FE&AT &, 3 fF A,
B, C, D, E 3R F et d-err 31 8§, 3 T ABC+DEF =
1111, @ A+B+C+D+E+F FT HIST &4T §? (2023)

(a) 28 (b) 29

(c)30 (d)31

98. ¥l fraell 3-3rFIT UIpfas WE&ATT (3FT i
g & faem) € oo 93w 3w R ¢ sk
HETT 5 O AT §7 (2022)

(a) 8 (b)12

(c) 16 (d) 24

99. AT T a1v YA+ WA # v wAEA § 3 A
a4 | 3R 1 FATRT § N Fo IEEd & §) I
Ig I FET ¢ F Fyal & & 71 SRy gAEEAT F
IW & & v waieq § a1 7A€ 39aT 3 56 YK
I

Td & 8.00 §91 &, §Hd H UIAR § [THDR & fow
3Tel S e TRl Fehcll &7

FUT 1. TFTIR & ToIT g3 g7 30 AeAe & 91, Td 10
o s Telal &
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